The ChainLadder-package and SWord

This little document demonstrates how you can embed R code, including the ChainLadder package and use Sword (see http://rcom.univie.ac.at/download.html) to for auto reporting.

Step 1: Install Sword and read the manual carefully.

Step 2: So you think everything is working, so let’s start.

Of course the next step has to be to load the ChainLadder package, which we do with the following code snippet:  <<results=hide>>= library(ChainLadder )

 @ 
Now we can use all the functions of the ChainLadder package. Say we want to run the MackChainLadder function on our test triangle ‘RAA’, display the results as a table and plot a diagnostic chart.

Here we go: <<>>= M<-MackChainLadder(RAA, est.sigma='Mack') 

 @ 

 <<results=table,table.type=1,table.headingrow=T,table.firstcol=F>>=format(summary(M)$ByOrigin, digits=2
, big.mark=",") 
	
	Latest
	Dev.To.Date
	Ultimate
	IBNR
	Mack.S.E
	CV(IBNR)

	1981
	18,834
	1.00
	18,834
	0
	0
	NaN

	1982
	16,704
	0.99
	16,858
	154
	206
	1.34

	1983
	23,466
	0.97
	24,083
	617
	623
	1.01

	1984
	27,067
	0.94
	28,703
	1,636
	747
	0.46

	1985
	26,180
	0.91
	28,927
	2,747
	1,469
	0.53

	1986
	15,852
	0.81
	19,501
	3,649
	2,002
	0.55

	1987
	12,314
	0.69
	17,749
	5,435
	2,209
	0.41

	1988
	13,112
	0.55
	24,019
	10,907
	5,358
	0.49

	1989
	5,395
	0.34
	16,045
	10,650
	6,333
	0.59

	1990
	2,063
	0.11
	18,402
	16,339
	24,566
	1.50


 <<results=hide,fig.width=6>>=plot(M) [image: image1.emf]1981 1983 1985 1987 1989
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